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GROUP—A
(Marks:21)

1. Answer the following questions : 1x2=2
O 2PPTYRR Tad i

(a) What is meant by maximum social
advantage?

I AR Rd T [ g e

(b)) Who has been called as the father of
modern public finance?

e ey Rems P e s @ ? |
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2. Answer the following questions (each within
50 words) : 2x2=4

o YR Baq fum (AfSeh! eo R foeTo) -

(a) State the Wagner’s hypothesis.
(RSFRR AFHCO! Sy 41 |

(b) “An indirect tax is not always equitable.”
Give two reasons to support your
answer.

“orars 9 Gy W Fwerd 7= 1 (ONR
T LTS 1ol Y& fran o

3. Answer any three of the following questions
(each within 250 words) : 5x3=15

o) el R e bR Sog fum (afecs
3¢ o *Fq o) :

(a) How does public expenditure affect .
the economy?

I W G IAASF (@FF  ASHIES
$1? |
(b) Write a note on ‘capital receipts’ as

a source of public revenue.

J[ER WA T oA AR A’y 8owS
«o1 COrT fordt o
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Classify the following statements as
revenue receipts and non-revenue
receipts. Give valid reasons in support
of your answer :

were fra Taferar wmenfes s SA1-Smanf
A CAERIIT I | (MR TEIR AT
9 Y& HISRCGRT

(i) Once-for-all charge which is
imposed by the government to fight
against the Covid-19

@IMST-557 Reem Jfortal BIINI I2eAl
GFFAT S

(ii) Charge imposed by the government
on interest earned by the depositors
QAR WIRIT A TSR 8OO
DAFIC] IR EA O]

(iii) Claim of the government over
property after death of a person
not having left any legal heir

@i Rffre Tt R weamis
T9 ()T IRER 79187 6o[FS 5P WA

(iv) Fine imposed by the government
agencies for not wearing mask
during the Covid-19

@IST-553 TS R 2Ry 9339 I
BIPIAT ALER, WA FA KA
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(d) Is public debt always unproductive?
Give two arguments in support and
three arguments against of your
answer.

BITIR FT IR SRATTAEADCA 2 (O T&J
WIS W W Sew Rerw e e
SSCEHT |

(e) Explain the role of public expenditure
during depression.

T SREE AT IR T $IRT G1 3A4 |

GROUP—B
( Marks: 21)

4. Answer any three of the following questions
(each within 500 words) : . 7Tx3=21

o PR [ e foftR Te frm (afch
¢oo *Hq foege)

(a) Critically examine the principle of
maximum social advantage in context
to the market economy. 7

IGR GRS e TS AR Ao AR
R4 ©GDT FACABAETSCR 2R 41 |
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(b) Define public expenditure. Is subsidy
be regarded an instrument to reduce
inequalities in developing countries?
Discuss. ' 2+4+5=7
5999l TR @ | S o STl
W PR A AT o1 et Se=cA 2
HICEmA T4

() Name two public goods and explain
why they are public goods. 2+5=7
w5 IO TR AN o e CRER Iwd
w3y &9 =8, [0 940 |

(d) Explain the role of external public
debt in economic development of

a developing country. T
TmEE (P GRS T A
BRI YR PN 0T FA |

() What is debt trap? What are its
reasons? How do a country get rid of
debt trap? Explain. 1+3+3=7

4 g o TR [Afea IRemr 7 o
QU 49 TR AT (@ o AR AR ?
7 0
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